	KLADNÁ VĚTA
	OTÁZKA
	ODPOVĚĎ - YES
	ODPOVĚĎ - NO

	I´m wearing a blue trousers.

	Are you wearing a blue trousers?
	Yes, I am.
	No, I am not.

	She´s playing the piano now.

	Is she playing the piano now?
	Yes, she is.
	No,…………..

	He is skiing in the mountains.

	Is he ………………..in the mountains?
	Yes, …………..
	No, …………….

	We´re waiting for a bus.

	Are we …………………….for a bus?
	Yes, we …....
	No, we aren´t.

	They are swimming now.

	........they……………………now?
	Yes, …………
	No, they……………
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Přečti, přelož kladnou větu a otázku, doplň, co chybí.






